(c) (2 2= | 2n7r) and (-2, 3” £ (2n 4 1)7r) , N an integer

y

A

t+(23)
e L —é—x
2,0 | @0

L

y

(=3.1v4)) - (3,~w/4)
[ ]

2.

38. r’sin20 =2 = 2r’sinfcosf# =2 = (rsinf)(rcosf) =1 = xy = I, hyperbola with focal axis y = x

62. x2+xy+y’=1=x®+y*+xy=1= r?+r’sinfcosf=1 = r2(1 +sinfcosf) =1



3.

17

13

=% =>r=-1= (-1,3),and0=-3% = r=-1
—1.-Z2): ¢ =% — _ging: — rsinf+rcosf

= (=1,-3):r = § = —sin6; Slope = FL7H g

____—sin’f+rcosd LA SN

~ —sin# cos f—rsinf = Slopeat( 112)15

—sin® (3)+(~1) cos 5

—sini_;-cmé;,——[—l]sin%

= —1;Slope at (=1, — %) is

—sin® (= 5)+(=1) cos (- §) -1
—sin (= 5) cos (= F)=(=Dsin (=F) —

Since ( &£ r,—#) are on the graph when (r, #) is on the graph
((£1)* =4cos2(—6) = r* = 4cos20), the graph is
symmetric about the x-axis and the y-axis = the graph is
symmetric about the origin

& 26 (w6 Ywe |Pwze

0 0O° O | . 2
M @ % o G
Tfy ye* ] O 0 o)
Qaliet " T4 "2 =
Jt/2 0° 130° =1 =t ==

b

r=-l+cosf

» X

%w 4 cos 20




6.

28. Let F(x,y) =xe¥ +sinxy+y—In2 =0 = Fy(x,y) = e’ +y cos xy and Fy(x,y) = xe’ + x sin xy + 1

WA E LA

e¥ 4y cos X
xe¥ +xsinxy+ 1

= £0,n2)=-2+2)




After reversing the order of integration we get

1/2 in~!y
/ /1 zy? dx dy
o Jo




1
.ﬂ};f(-r-y}d-‘i

To find the value of double integral ,we must found the area of integration

flz,y) =4-y?

the domailn is restricted by the area — r =3

¥ 2 3 2 2
//(4 ~ y?)dzdy = / [42 - y%]zdy = /(12 - 3y?)dy = [12y - y‘]j =24-8=16
0 0 0 U]




17, [*[Tayax + [ [ ayax ;

L2 ,|
. 2
-j:(1+x)dx +L(l—;)dx ,.-3“
g 34 1 A
= x+5_;'-]_|+[x—’{-]o-—(—l+%)+(2—l)*% 9 \20--11
r=-

10.
u-z [_!]zh.dx

-ghe [ 1(!n2+lnln2—lnln2)dx-(h._,) " 2 () (nx)
=(Z5)n2+hin2-Inln2)=1

2in2 2in2 |.
22. average = uTzF f = L dydx = -



